ALGESRAIC TRINKING. .

Sequences

: to do?
By the end of this unit you should be able
to:
* Describe and continve both lnear and
non-inear sequences

sequence

1] Sequence: items or numbers put in a pre-decided order
1 Term: a single number or varidble
11 Postion: the place something is located

] Linear: the difference between terms incredses or decreases by the same valve each time
I Non-inear: the difference between terms increases or decreases in different amounts
|| Difference: the gap between two terms

e Find missing terms in a Inear sequence I Orithmetic: a sequence where the difference between the terms is constant
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:I Geometric: a sequence where each term is found by muttipling the previous one by a fixed non zero number
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| Describe and continve ai sequence diggrammatically || Predict and check terms | predtons |
P — — Look at your pattern and
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inear and Non Linear Sequences

Linear Sequences — increase by addtion or subtraction and the same amount each time

How do | contirve the sequence?

You continue to repeat the same differerce through the next positions in the

common differerce)
How do | continue the sequence?
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| 3 5 7 [ Non-inear Sequences — do ot increase by a constant amount — quadratic, geometric |
I Term: the rumbes g f [ and Fibongcel |
I (ti’m' bem:f 1 0r varigoe b i) Graphical e Do ot plot s straight. Ines when modelled graphicaly |
| the number Ot Squares in each Image, o e The differences between terms can be found by addition, subtraction, muttipication o
| £ g duision
I natobe | position | 1 | 2 | 3 3 1 I I
s 6 ! | | Fibonacei Sequence — look out for this type of sequence |
I Tem |3 |5 |7 34, [l |
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| Because the terms increase by the same addtion each time this Position |l Eqch term s the sum of the. previous two terms I
| s inear — as seen in the graph I I
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| 4 i |t increases by muttiplying the previous term by 2 — this is a geometric sequence because the I
It increases by adding 4 to each term | | constant s mulply by 2 |
| How mary terms do | need to make ths corchsion? I | How mary terms do | need to make this conclusion? |
|G last 4 terms —two terms onl shows one difference rot F the dffererce s | | Ot keast 4 terms — two terms only shows ore. dfference not if this dffererce is constant (a I
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sequence.

EXPlaln tefm-tO’term ﬂ)le How you get from term to term

Try to explan this in full sentences not just with mathematical notation
Use key maths language — doubkes, halves, multiply by two, add four to the previous term etc

To explain a whole sequence you need to include a term to begin dt.....

You continue to repeat the same differerce through the next positions in the sequence

he next term is
found by triping

the previovs term
The sequence

begirs at 4
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